
9 «а» 29.04.2020г Тема урока  «Контрольная работа за 4 четверть» 
1) Выполнить::
7,6 + 908,67
0,85 х 4,07
39,156 : 7,8
6,93 : (0,028 + 1,512)
2.Решите задачу: 
 Комната имеет длину 6,2 м, ширину 5 м и высоту 3 м. Каков объём 
        комнаты?
3. Выполните действия:   
 8 ч – 2 ч 15 мин                                          7 м 8 дм · 3
   4 ч 17 мин + 5 ч 23 мин                        23 м 10 см · 18
   7 сут. – 3 сут. 12 ч                                4 кг 628 г : 4
  500 ц – 36 ц 6 кг · 13

